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Earthquakes and voicanoes can quickly
change the landscape, but weathering usually
produces gradual changes. Weathering is the
process by which rocks are broken down as a
result of exposure to sun, wind, rain, ice, and
other elements of the environment.

There are two main types of weathering:
mechanical and chemical. In mechanical
weathering, rock breaks into bits but its
composition remains the same. For example,
when water freezes in the cracks of rock, it
expands, widening the cracks. Eventually, this
freeze-thaw weathering can crumble the rock.
However, this crumbled rock’is the same as the
original rock. Chemical weathering occurs when
substances, such as carbonic acid in rainwater,
combine with the rock, dissolving certain
minerals and changing the rock’s chemical
makeup.

Living organisms can cause both mechanical
and chemical weathering. Roots from plants can
grow into the cracks in a rock, making the cracks
bigger. Lichens can grow on a rock, producing

. chemicals that break down the rock.

4. Which of the following is an example of
mechanical weathering?

(1) A pebble rolls downhill.

(2) Groundwater dissolves limestone.

(3) The metal body of a car rusts.

(4) A jackhammer breaks apart a roadway
surface.

(5) A rock breaks down into clay, salt, and
silica. .

5. Which of the following is an example of
chemical weathering?

(1) Acid rain wears away marble.

2) Potholes form during a cold winter.

3) Roots widen the crack in a rock.

4) Water freezes and cracks a pool's walls.

5) Pipes freeze and burst during a cold
spell. '
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Questions 6 and 7 refer to the following passage
and diagram.

In erosion, water, ice, or wind wear away rock
and soil and transport it elsewhere. Erosion
usually produces a gradual change in the land.

The running water of a river has great power
to erode rock and soil. The rocks and other
debris carried by the river, called load, increase
its power to wear-away the banks and riverbed.
Most erosion takes place at the outside of bends.
The banks are undercut, often creating steep
cliffs or bluffs down which more soil and rock fall.
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6. Which two processes are involved in
erosion?

v

(1) wearing away and weathering
(2) wearing away and transporting
(3) transporting and depositing

(4) transporting and loading

(5) loading and diverging

7. Due to heavy rains upstream, there is a
surge of water in a river. What is the likety
effect on a biuff at the outside of a river
bend?

(1) The bluff wouid be exposed to air.

(2) Erosion would decrease along the bluff.
(3) Erosion.would increase along the bluff.
(4) The river would carry less load.

(5) Erosion would temporarily stop.




